MAB432 % 5 AW IR £1(1SO 6432)

MA Z 5 RSk IR SEL
MAB432 Series Stainless Steel Mini Cylinder(1SO 6432) A-\‘ DINGLI i | ini Gl A DINGLI

MA Series Stainless Steel Mini Cylinder

I 31TH55/Ordering Code

o '?”F’ETT‘?'HE

5 E / Series Code BEMX & waKE BEE &5 / Fixed Type MA 16 <100 MAD 25 <50-25
MA: E a3 / Double Action Type TEERE  Cylinder Bo TR FRER 25 (98 &%/ Blank:Narmal type
MSA: B3 | Single-Action Type CM:E & 8~25mm S EHIR LB AIEREEEL/ Front and back fixed type % "
x MAD B E 13 [ Double-shaft Double  UiFREL Magnet Code FARiZERBIER / Front caver fixed type . u
MA6432 20 < 25-8 Action Type Back Cover Type T TR BlankWithout Magnet  SDEEZEIEES /Back cover swinging type 1Tmﬂ quord erin g COde
MAC: & shi& il &) / With Cushion Type Blank:Fishtail type Stroke Adjustable  s:With Magnet U: f[FE B E3 / Back cover fixed type
MAJ: T TR / Double-shaft and DM :Sounded type Stroke Type
adjustable stroke type W:Horizantal type 0~100mm
&R 4t 5 e
I m I:IB =A ﬁ Internal structure Des%r?ation Desfanation e Type FEA firsz AiATE EHARS EEBR Fixed Type
- 7 MQA§§%$ _— MA:Double Action Type ?ME@?%EES Cylinder Bore Stroke Adjustable kgﬁﬁm}frﬂ EE AR Blank Mormal type
; i < A I‘ MSA Single Extrusion Type - 16mm~40 Stroke T S LE#I/EREER LB Front and back fixed type
i EE & 5 § 7 8 9 10 11 12 13 14 15 16 1 EETRsGURAE | 2 | T MAE Barrel mggﬂéﬂg&%ﬁ sazg MADDouble Shat Doudle. U e HIRTAS toam e Magnet Code FA BI&EIEZ  FAFront cover fixed type
2 ERFFE/Piston RodNut 10 | 53 % £ E/Piston rod O-ring MAC B ha | Adion Type gg‘;‘; E“’S‘ﬁglll;%ee Blank:Without Magnet  SDE /S&fE#25t SDB:Back cover swinging type
- - . MACD:Double Shaft Double SWith Magnet UEERER  UBack dt
3 #& % B/ Front Cover Seal 11 % %0 [Piston O-ring VARG RE  MACDDouble shet Gl Rounded ype B RRREL  UBack coreriiedtpe
1 1 arizontal type
4 & it % /Bearing 12 | #E(Fi%)Magnet(Optional) MQSSEH;'S:?Z%”A%DQ
5 A7 fa424 Mexagon Screw | 13 it & T Wear Ring Adjust Able Stroke Type
6 Hl2/Front Cover 14 & 3£ /Piston
7 481 % £ [ll/Cushion Ri 15 75 iR Mex Socket S mgl}fﬁﬂ Internal StrUCture
3% F] [E/Cushion Ring | ZN ex o0CKel oCrew J_? _% %ﬁﬁ . ,_%_ % %ﬁflj_{ .
8 EE0%/O-ring 16 & 2% /Back Cover NO. Designation NO. Designation
y i] & JEAT4Z B /Piston Rod Nut 2 & E4F/Piston Rod
—rn 3 HiZ%+E/Front Cover Seal Ring 4 & 5hihR/Oiled Bearing
l ﬁ& StrOke L5, Tl %4% £ /Front Cover Nut 6 i #=/Front Cover
Lft4r BiWorking Medium = 7 T HENE /Stainless steel tube 8 A {EEE Fy /Anti-crash cushion
#EEI X /Motion pattern =% # 5 5/DoubleAction or single Action 2 s /M%&sitﬁi g e 19 %204 Piston O-Ring
STHE i k1T #8/Standard stroke ax.Stroke T : I :
ﬁTEj}fEnsured Pressure Resistance 12.2!;9:?::(1 .E:pa) Bore ; e 1 RS Ti%) Magnet(Optional) 12 i S5 Wear Ring
= 1 £ 71 /Max pressure Zhgllenr(] (Mpa) | 13 4% %1 E/Seal cushion 14 | A7 R/ Hex socket screw
= {K{EHE A1 /Min. pressure 0.5kgflem’(0.05Mpa) 1kgflcm’(0.1Mpa) 8 10,25,40,50,80,100,125,160,200 400 15 E%/Back Cover .
RS TR i/ -20~+80°C( A B EREL: % & :60 Clnternal Magnetic 10 | 10,25,40,50,80,100,125,160,200 400 l ﬂ*ﬁ / Specifcation
Environment and fluid temp Install by Tach strap:Type Max:60C) 12 | 10,25,40,50,80,100, 125,160,200 ' 400
&% 5 /Piston veacity 04 (17 Rubber Bufer(Stendard) B (fE)AT Buffer(Option) 46 | 10,25,40,50,80,100, 125,160,200 T 4T4%/Bore(mm) \ 16 20 25 32 | 40
= _ ‘ s - o 2 : ;
281 /Buffering 50~750mmis 20 | 25,40,50,80,100,125, 150,160,175,200,250,300 1000 R Motion pattern WAl m3kiDaubleAstionor SingleAction
#VFhEEKinetic energy To Lerance 0.2 03 0.4 0.9 2.7 4 25 | 25,40,50,80,100,125,150,160,175,200,250,300 | 1000 T E4r BR/Working Medium 23S JAr
$&& O12/Pipe Size M5 0.8 Gl e b e e E EE R /Fixed Type LA B /MNormal Type LBE/Type FAZ/ Type SDBE/Type UZY Type
B FEAERRAEITIZ AT {%4F Note:ln non-standard stroke options. {# FIIE 135 /Operating Voltage Range 0.1~0.9MPa
I 5pME R ~F/Overall Dimension {RIIEM} E 71/Ensured Pressure Resistance 1.35MPa
L1 4772 (Strake) {E iR ESEF /Operating Temperature Range -5~70°C
XCHTIE(Strok s .
s 5 ol {E Fi#E ESE Bl /Operating Speed Range 50~800mm/s
EW S
; et WS L3-+7 #(Stroke) L4 SE BT/ . frofEEL/Standard Type [ 4 # &/ Anti-crash cushion
5 "TL g ! Buffer Type #Z;%EY/Damping Type 5 ] 3838 4 im/Adjustable cushion
L T EEO{Z/Pipe Size M5x0.8 G1/8"
wd e @ 3 2w o BE AL R tiGE EHHSILATFNTR, RFEEETR, HHFHIHEA.
H oo b A Our Company can also make flat for cylinder covers inlet and outlet position. If you require this, it should be specified.
swe T f
KW —
‘ I 17#8 Stroke

:lg: h"h'El I
WEAS | oy ®CD| ®D| ®D5| o . L4 | L5 ‘

&1 4%/Bore(mm) | 1712 /Standard Stroke | K {712Max Stroke | Z515/7#2/Permissible Stroke

Bore/Symbol | ‘ |
78 | 22 | 34 |12 |10 - 16 64 16 25 50 75 80 100 125 160 175 200 300 500

8 12 M12x125 4 15 15 12 M5 8 12 M4 19 7 6

10 12| Miex125| 4 | 15| 15 | 12 | M5 | 8 | 12| M4 |19| 7 |6 |78 |22 |24 |12 |10 | - | 16 | 64 | 20 25 50 75 80 100 125 160 175 200 250 300 500 650
12 16| M16x15| 6 | 20| 20 | 16 | M5 | 12 | 16| Me |24| 6 | @9 |Ba |28 |38 |17 |15 | 5 | 22 | 75 25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
16 16 M16x15 6 20 20 16 M5 12 16 M6 24| 6 9 95|28 44 17 |15 5 | 22 | 82 32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 ' 650
20 20 M22x15 8 27 27 22 GIE 16 20 M8 30 8 12 112 32 516 20 18 7 24 95 40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
o5 22 M22x15 8 27 27 | 22 Gi@ 16 22 MI0x125 30 | 8 12 1195 36 531 22 |20 8 26 | 104 JEFEAEAREITIZ AT {££4F Note:In non-standard stroke options.

083 084




